(3) M&EWY HYBeAe SR Y (Tl HA)
ZZHB)-(A)
- 201644 20174
= =2 2017AE o A A chef:
2 st of AF ol AF - = e 017 = o S (B9 |)
0T (%)
s 7 699,497 758,076 58,579 8.4% 758,075,909
ApELH] 541,275 581,592 40,317 7.4%
ol dn| 502,063 541,392 39,329 7.8%
=29 359,285 385,690 26,405 7.3%
H 42t 70,054 73,813 3,759 5.4%
E=3YES
292 2,662 7.
Hela 35,630 38,29 ,66 5%
AlzEE H
o T 37,004 42,158 5,064 13.7%
7|E}
) - 1,44 1,44 !
S A ,440 ,440 #D1V/0
= 1,468 1,400 -68 -4.6%
7| Begs| 860 800 -60 -7.0%
= 2 i - - 0 0.0%
3| ofH| 608 600 -8 -1.3%
29H| 37,744 38,800 1,056 2.8%
of H| 620 600 -20 -3.2%
X=X al
"'f,'i' = 2,670 3,080 410 15.4%
TTE
a2zaz 12,350 12,924 574 4.6%
MMz 9,312 9,876 564 6.1%
L 5,200 4,720 -480 -9.2%
ol &H| 432 400 -32 -7.4%
J|Ete | 7,160 7,200 40 0.6%




(3) M&EUA Y SEAts SX® (CHeidd)
ZZH(B)-(A)
= 20164 20174
E = 2017AE o A A chef:
o st of AF o AF - = o= 017 of S (B9 |)
= T
(%)
A A= M| 13,824 4,000 -9,824 -71.1%
Al M| 13,824 4,000 -9,824 -71.1%
Al MH]| 2,702 1,000 -1,702 -63.0%
KiabR SH] 1 1,000 999 99900.0%
Al A X]
Lé gl 11,121 2,000 -9,121 -82.0%
FX[H|
AtdH| 121,125 171,103 49,978 41.3%
AbdH| 121,125 171,103 49,978 41.3%
Atz a2 22,561 115,560 92,999 412.2%
ME|AH B 85,126 40,488 -44,638 -52.4%
x| o == 5t 7,908 9,505 1,597 20.2%
7| EtALRAH] 5,530 5,550 20 0.0%
IdE x| = 0 0 0 0.0%
PATX| & 0 0 0 0.0%
AT X| & 0 0 0 0.0%
Azz - - - 0.0%
SR Akt - - - 0.0%
dFyez - - - 0.0%
O[RIx| =3 0 0 0 0.0%
Hx& 1 1 0 0.0%
X & 1 1 0 0.0%
Hx& 1 1 0 0.0%
offu]H| 7| EL 4 5 1 0.0%
o B 27| Et 4 5 1 0.0%
LIEIE] 1 1 0 0.0%
dkstg 3 4 1 0.0%
FHzolEF 23,269 1,375 -21,894 -94.1%




